2.7 and 2.8 review #2.notebook

December 05, 2018

Graphing Piecewise, Step and Name
Absolute Value Functions
Graph the value of the function. (4 points each)
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7. f(x)=-3|x|+5
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Solve each equation.

10) |6m| =42

13) |k—10|=3

15) -3Ip| =-12

17) 7|n| =36
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8. Given h(x)=-8|x+1]-3

a.)Tell me if it opens up or down?
b.)Is it narrower or wider than y = |x|?

c.) What is the vertex?

9. Describe the difference between a piecewise function
and a step function.

R) |-6x| = =30
123} |nl +1=2
p) {lml-i-2=ll
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